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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
t_n 

December, 2016 

(APPLICATION ORIENTED COURSE) 

AOM-001 : OFFICE ORGANIZATION AND 
MANAGEMENT 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Answer any five questions. All questions carry equal 
marks. 

1. What do you mean by 'Office Systems' ? What 3,7 
are the advantages of a sound office system ? 

2. Explain the concept of centralised 2,4,4 
correspondence. State the advantages and 
disadvantages of centralised correspondence. 

3. Define the term 'Office Supervision. Discuss the 3,7 
role of office supervisor in developing sound 
human relations in an organisation. 

4. What do you mean by Work Measurement and 5,5 
Standardisation ? Briefly explain various methods 
of setting standards. 

5. Explain the concept of 'record management'. Also 3,7 
state the functions of record management. 
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6. 	Explain the importance of office personal relation. 5,5 
What is the role of communication in building 
good personnel relations in an office ? 
Explain briefly. 

	

7. 	Explain the various methods of cost reduction in 10 
an office. 

	

8. 	Distinguish between any two of the following: 5+5 

(a) Data and Information 

(b) Centralised and Decentralised filing 

(c) Open Office and Private Office 

(d) Primary and Secondary Data 

	

9. 	Write short notes on any two of the following: 5+5 

(a) Interior decoration of an office 

(b) Staff welfare measures 

(c) Work Sampling 

(d) Indexing 
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